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Im Dreieck M1FD gilt: 

 
FE = AB/2 = 20 cm/2 = 10 cm 

 
M1F = 25 cm - FE = 25 cm - 10 cm = 15 cm 

 

                M1F      15 cm 
cos α/2 = ------ = -------- = 0,6 --> α/2 = 53,13° --> α = 106,26° 

                M1D      25 cm  
 

A = 2 * (AKreis - AKreisaausschnitt + ADreieckADM1) + ARechteck 
 

AKreis = π * M1D² = π * 25² cm² = 1 962,5 cm² 
 

                     π * M1D² * α       π * 25² cm² * 106,26°   
AKreisausschnitt = ---------------- = --------------------------- = 579,25 cm²  

                            360°                         360°   
 

ADreieckADM1 = 0,5 * M1D * M1D * sin α = 0,5 * 25 * 25 * sin 106,26° 
 

ADreieckADM1 = 300 cm² 

  
ARechteck = AB * AD = 20 cm * 40 cm = 800 cm² 

 
A = 2 * (1 962,5 cm² - 579,25 cm² + 300 cm²) + 800 cm² 

 
A = 4 166,5 cm² 

 


